Bl

He is intelligent, he lacks common sense.
Answer:

| studied hard | passed the exam.

Answer:

She wants to go out, she has too much homework.
Answer:

They couldn't find a table, they left the restaurant.
Answer:

| love to swim, I'm not a good swimmer.

Answer:

He is good-looking, he is also very kind.

Answer:

She is tired, she wants to go home.

Answer:

| don't have money, | can't buy the book.

Answer:

It rained heauvily, we stayed indoors.

Answer:

He didn't study, he failed the test.

Answer:




Answers

He is intelligent, he lacks common sense.
Answer: but

| studied hard | passed the exam.

Answer: so

She wants to go out, she has too much homework.
Answer: but

They couldn't find a table, they left the restaurant.
Answer: so

| love to swim, I'm not a good swimmer.

Answer: but

He is good-looking, he is also very kind.

Answer: and

She is tired, she wants to go home.

Answer: so

| don't have money, | can't buy the book.

Answer: so

It rained heauvily, we stayed indoors.

Answer: so

He didn't study, he failed the test.

Answer: so



